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148 T A 200 4 800 G
149 gL A 150 4 600 G
150 T A 150 4 600 G
151 W g2 i 25 1 25 G
152 VLl o 25 1 25 .
153 2t { 25 1 25 T
154 eI T 3 15 45 o
155 PeHBR N 25 7 175 ¥
156 IR = 300 5 1500 0
157 RE 7R = 30 18 540 ¥
158 Ttk A 25 5 125 ¥
159 il 7 250 2 500 G
160 AN 7, 300 0. 04 12 G
161 AN 7, 300 0. 05 15 G
162 — Ak 7 300 0. 05 15 G
163 P f b 7 250 2 500 G
164 T ER T 100 0. 06 6 o
165 TR CREAN . HAN) i 300 0.09 27 ¥
166 BRERAN 7 500 0. 04 20 ¥
167 A 7 500 0. 04 20 T




168 25 M i 500 0. 06 30 ¥
169 A 7, 100 1 100 G
170 ToIK LR iD 500 0. 08 40 G
171 o R I, 500 0.09 45 x
172 | AN N i) 250 1 250 T
173 | [0 G i 500 0. 06 30 x
174 | oS . 5 1000 0. 06 60 X
175 MR 7 500 0. 06 30 I
176 3 10 1 10 ¥
177 T 25 18 450 o
178 k) 500 0. 43 215 xT
179 I 100 1 100 I
180 T 2 6 12 ¥
181 a —yEH L 50 0. 46 23 I
182 EAN e 25 1 25 T
183 pH) ™ yu 4% A 25 3 75 T
184 R ALk I 10 91 910 T
185 NIASE Y e 25 1 25 o
186 SE PR AL &= 4 14 56 X
187 HR BT (FE4T) e 10 3 30 Tc
188 JEHHE o 25 1 25 o
189 %218 (fF41B) i 10 5 50 G
190 EH i 10 1 10 G
191 [LEAN i 25 2 50 G
192 nt % 21 i 10 218 2180 G
193 I3 PHIL A 25 1 25 G
194 AR i 5 213 1065 G
195 Tl o 25 1 25 X
196 KA e 25 1 25 T
197 o I H =t T 10 15 150 ¥
198 R B A Ly U T 10 13 130 X
199 ToK L HE =7 2500 0. 06 150 ¥
200 LR Tk A 500 0.07 35 o
201 T =Tt 1000 0. 02 20 G
202 R i, 200 0. 05 10 G
203 A 7, 200 0. 06 12 G
204 AN T 200 0.03 6 X
205 RPN T 200 0. 06 12 X
206 I = 8 9 72 G
207 s £, 30 4 120 o

HHBEFR A (MS) 71 = 1
208 FAL4T (CaCl2 » 2H20) I 500 0.05 25 ¥

BREREE (MgS04 « TH20) I 500 0. 06 30 o




R — A 40 (KH2P04) T 500 0. 06 30 o
fffk B0 (KT) T 500 0.16 80 ¥
WER (H3BO3) T 500 0. 06 30 ¥
FEEETCITSQA « 4H20) I 500 0. 06 30 T
/BRI ES040TH20) % 500 0. 06 30 ¥
MaD4:e\2H20) W 500 1 500 T
g&*soﬁglizo) i 500 1 500 T
S BocL2ys dh20) 5 500 1 500 I
NI i A a2-EDTA) | TR 500 1 500 T
| MRl (ReSbA - 7H20) i 500 0. 06 30 I
WLEE 7, 25 2 50 ¥
TR 7 25 2 50 X
nk g = Eh iR i 25 4 100 o
R e R =) 7 25 1 25 o
H &R i 100 1 100 I
61 & IR NP4 (6-BA) T 1 42 42 X
25 1% (NAA) 7 25 4 100 xT
TR IR (GA3) 7 78 78 xT
MgI P T 1R (TBA) e 55 55 X
N5[ Wk 2,12 (TAA) o 55 55 xT
4 & AR R R £
209 FRE e 500 1 500 G
o i 500 0. 46 230 ¥
PR 28 7R A 6 1
TR — &40 (KH2P04) T 500 0. 09 45 T
210 | FEEEE % (Na2HPO4 « TH20) 7 500 0. 09 45 T
TR EE (MgS04 » 7TH20) T 500 0. 09 45 ¥
ilfe i 500 0.09 45 T
LHUER o W 5 57 S R R = .
il
AEiEY ) 7 2 80 160 I
TR A 40 (Na2HPO4 « 7TH20) I 500 0.09 45 ¥
011 TlE — S 41 (KH2PO4) 7 500 0. 09 45 T
IlREE (MgS04 « TH20) 7 500 0. 09 45 T
S T 500 0. 06 30 T
ERRR B T, 500 0. 06 30 I
IK A IS = i, 250 1 250 X
R L 4T 44 24 (CMC—Na) L 500 0.1 50 X
I 2T 8 PRI 2 257 £ 1
A2 WK 78 4 4 (SephadexG-75) T 50 22 1100 ¥
212 P I ot T 250 1 250 ¥
N, N-H SR I Pk e T 100 1 100 X
I BB AN (SDS) T 250 1 250 ¥




ik i PR T 500 1 500 ¥

R (Tris) T 100 1 100 ¥
Eﬂﬂ3£§z:‘*ﬁ&<TEMED) =T+ 100 0. 44 44 X

213 = 1 36 36 o
214 = 1 36 36 o
215 = 1 36 36 "
216 P = 1 36 36 G
217 M@Eﬁm G o ﬁv‘fl & | B 1 36 36 T
218 RER G S &= 1 36 36 I
219 | M hERE xEE/mj@Jﬁ?‘IJA = 1 36 36 ¥
220 | e ILPAAE MIDNAZR AT 45 5 1T = 1 36 36 X
221 W EE 5 1 2 2 I
222 — MR T] 52 1 3 3 X
223 g )| 5 1 3 3 o
224 A T4 i 1 11 11 ¥
225 T8 { 1 14 14 o
226 2R £ i 1 16 16 ¥
227 BN 22 et { 1 13 13 o
228 HIRTF { 1 15 15 X
229 TAEMR s 2 40 80 X
230 P H &% A 51 9 459 X
231 RFE fF 5 6 30 X
232 VEHR 2% E 2 27 54 G
233 SR A 1 236 236 G

178464 T
2038380 J&

1. FrEmi& R AR MER.
2« CLERM S FrA 2, AR 7 AN 15 DAt A Av] 2 Py 2B SRR N S2AS FEAAT AT 2% FH
3. KRIFE RN BRI HM AT MR A TFH 2 H .
4 A% L FE R AL R R AN SE 10 2R I ERARAN -




		2022-08-21T12:44:21+0800
	41页(260,223)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:44:09+0800
	41页(127,230)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名


		2022-08-21T12:43:55+0800
	1页(96,604)
	041@N91320803MA21YMFL4W@江苏欣祥科教设备有限公司@00000003
	我检查过该文档，并且进行签章及数字签名




